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Chapter 11 Quadratic, cubic, and reciprocal graphs

Question | Answer Extra information Marks
y
10

9-
8_
7 Correct overall shape drawn. Must be symmetrical 1
67 about the y-axis.

11.1 (a) 51
= 1
34 (0, 0) clearly labelled
2_
1-

432-101234F%
11.1(b) | x=0 1
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Question | Answer Extra information Marks
g_l y=x2-x-1
5-
4_
34 Plotting all the points correctly 1
11.2 (a) 5
1 Smooth curve drawn through the points 1
EEEN IS ERE
-2
11.2 (b) | (0.5, -1.25) Answer reasonably close to (0.5, —1.25) 1
1.4 (or close) 1
11.3 (a) | Approximately 1.4 and -1.4
—1.4 (or close) 1
11.3 (b) | (0, 2) 1
113 (0 Draw the line y = —3. This line cuts the graph Identifying the points where y = -3 1
' when X~ 2.2 and X~ -2.2 Correct answer (both solutions) 1
Only one correct 1
Top to bottom in the table:
114 C. D, A B Two correct 1
All correct 1
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Question Extra information Marks
Points plotted correctly 1
11.5
Smooth curve through the points 1
y:
St X
8
FHE / =x3+1
| A0
Correct shape drawn. No need to label axes 1
11.6
) X (0, 1) clearly labelled 1
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Question | Answer Extra information Marks
X | 4|-2]-1|-0505|1 2 4
At least three values correct 1
11.7 (a) y |[-1|-2|-4]-8]| 8 4 2
All correct 1
y
44 ‘
i S
3 y xH
iy e
5 3 All points correctly plotted 1
17| 3 012 3 4o - |
x< HEHTTHY P Graph correct (should not touch either axis) 1
11.8 | Graph A 1
Linear: B
Quadratic: A
119 2
Cubic: D
Reciprocal: C
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Question | Answer Extra information Marks
2(x+3)° 2(x+3
11.10 ((x+3)) = ( % =2(x+3) Also accept 2X+6 1
Find the LCM of the denominators 5 and 8.
LCM =40 ) ] ] )
One mark for converting to equivalent fractions with 1
11.11 4_32 and 7.3 the same denominator
' 5 40 8 40 1

7. .
So, —is the larger fraction.

One mark for the correct explanation.
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